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Which one = of the following

statements is not correct ?

(1) The Marginal Propensity to
Consume is higher in case of
poor than in that of rich people.

(2) Marginal Propensity to Consume
is the consumption per unit of

- income.

(3) The Marginal Propensity to
Consume is always positive but
less than one.

(4) In underdeveloped countries,
~the - Marginal Propensity to
Consume tends to be high,

whereas in advanced countries
it tends to be low.

'(5) Question not attempted

Consider the following statements

and select the correct answer using
the given codes

~ Statement | : The ratio of Real Gross

Domestic Product- to Nominal
-Gross Domestic Product gives
.~ us an idea of how the prices
have moved from the base year

to the current year.
Statement Il : The ratio of Real
Gross Domestic Product to
Nominal Gross Domestic

Product is called GDP deflator.
Codes :

(1) Statement ‘I' is true, but
statement ‘II' is false.
(2) Statement ‘1" is false, but

statement ‘Il is true.

(3) Both statements ‘I’ and ‘I’ are
true.

(4) Both statements ‘I' and ‘I’ are
false.

(8) Question not attempted
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statements

Consi i
sider the followind mercial

about credit creation by €O™

banks ; |

(A) By lowering the minimum lega
cash reserves requirements fo:
commercial banks, the cfantra
bank expands the capacity 10
create credit in the country-

(B) If banks keep excess ¢ash
reserves to satisfy the derpan_d
for cash of their customers; it will
increase. the credit creation
capacity of banks. -

(C) If the public withdraw 2 large
part of the loans advanced by

.. the banks in the form of cash, it

will decrease the credit creation

capacity of banks.
Which of the above statements are

correct ?

(1) Only (A) and (B) are correct.

(2) Only (B) and (C) are correct.
(3) -Only (A) and (C) are correct.
(4) (A), (B)and (C) are correct.
(5) Question not attempted

Which of the following statement/s
isfare true about the price elasticity
of demand ? '

(A) At the middle point. of the
straight line demand curve, price
- elasticity will be equal to one.

(B) Any point which lies above the
middle point on the straight line
demand curve, price elasticity
will be less than unity.

(C) Any point which lies below the
middle point on the straight line
demand curve, price elasticity
will be greater than unity.

(1) Only (A) is true.

(2) Only (B) and (C) are true.

(3) only (A) and (B) are true.

(4) (A). (B)and (C) all are true.

(5) Question not attempted
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.o the following statememS

Consid t of inflati

e Concep a IOnary ap -
abo Tfte concept  has gegr"
(A) propounded by Keynes.

arises when the consump

(B) gn d investment spending toggth(::
. greater th.'e\n‘ the full employ.

ment gross national product level,

Choose the cprrect option :

0 only (A) !s correct.

(2)’ only (B) is correct.

(3) Both (A) and (B) are correct,

) Both (A) and (B) are incorrect.

- (5) Question not attempted

Consider the following statements

regarding median :

(A) Extreme values affect the median.

(B) It is a positional average. It's
value is not determined by each

and every observation.
“"Which of ‘the above statement/s

is/are correct ?
(1) Only (A) is correct.

- (2). Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Neither (A) nor (B) is correct.
(3) Question not attempted

Consider the following statements

-and select the correct answer using
the codes given below :

Statement | : An increase in income
causes an outward shift of the
Indifference curve.

‘Statement || : A point at which the

Marginal Rate of Substitution is
greater than price ratio cannot
be the optimum point.

Codes :

(1) Statement I is true, but
5 Statement 1’ is false.
()Statement ' is false, but

3 Statement 11’ is true.
4) Both statements ‘I’ and ‘I’ are true.
(4) Both statements " and ‘I’ are false.

(8) Question not attempted
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Consider the following statementsf

regarding Budget Deficit and select

the correct answer using codes
given below -

(A) The Government make
borrowings generally with a view
to finance their budget deficits.

(B) Borrowing from public to finance -
budget deficit is, in effect, simply-
a transfer of purchasing power

from the public to ‘the
Government.
Codes :

(1) Only (A) s correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.
(6) Question not attempted

. Read the following Assertion (A) and

Reason (R) and choose the correct

| option using codes given below :
Assertion (A) : The market ‘supply

curve is derived for a fixed
number of firms in the market.
Reason (R) : Market supply curve is

obtained by taking a horizontal

summation of the individual
supply curves of the firms.

Codes :

(1) Both (A) and (R) are trye and (R)
is the. correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A)is false, but (R) s trye.

(5) Question not attempted
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o the commercial bang s
< ected t0 keep‘ 25 percent of |
osits @S reserves, then With
deposits of T 200, the valyg

primal = ted deposits  wil be

of total €re
equal to -
1) 500
(2) 2300
(3) %800

(4) $700
(5) Question not attempted

If mean of 23, 29, 25, 32, 24 and Xis

27, then what will be the value of

"median ?

(1) 32
(2) 27
(3) 26

. (4) 25

(5) Question not attempted

Consider the following statements
about individual’s demand curve and

- Select correct answer using codes

.(A) When any of the ceteris paribus
condition changes, there is @

Movement along the same
o dema’nd curve.
®) The - change in  quantity

. 4) B

demandeq means shifts in entiré

\ curve.
COdes 2 :

(1) On|
) o
Q) B

Y (A) is correct.

"ly (B) is correct.

°th (A) and (B) are correct.
(5) °th (A) and (B) are incorrect

7 Question not attempted
' 01
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As per multi-gimensional POVerty:
index progress report 2023 of NITI
Aayog, the headcount poverty ratio
in the country declined from 24.8.5
percent in 2015-16 to how much in
2019-21 7

(1) 12.96 percent (2) 21.96 percent
(3) 14.96 percent (4) 18.96 percent
(5) Question not attempted

Which of the following key
programmesl/initiatives of Government
of India is not related to Sustainable

' Development Goals (SDG) 2 : Zero

Hunger, as per the SDG India Index

" Report 2023-24 ?

(1) PM Kisan Sampada Yojana

- (2) Kisan Credit Card
(3) Deen Dayal Antyodaya Yojana —

National  Rural Livelihood
Mission

(4) PM Fasal Bima Yojana

(5) Question not attempted

Which of the following is not correét

about invention . of Human
" Development Index ?
(1) Lord  Meghnad Desai s

associated with the invention of
HDIL. '
It is @ composite index of 5
social indicators.

The first Human Development
Report was Published in 1990.
The Performance .of  each
dimension of HD| g expressed
as a value betweep, 0 and 1
(5) Question not attempted .

(2)
©)
(4)
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n GDP is calculated by
Gree! environmental d
1) Adding -
( costs 10 traditional GDP.
Subtractlng cost Qf
envnronmental degradation ik
depletion of natural resoug,
from traditional GDP.
3) only considering the pogy,
enwronmental impacts.

atl()n

,(4) adding all  positive aspects

related to environmen
upgradation.

(5) Question not attempted

Consider the following statements
and find which statements are
incorrect :

(A) To provide various employment
related services to the youth of

- the country on a single platform,
Government of India has
launched My Bharat Portal.

data source on
employment and unemployment
is Periodic Labour Force Survey
(PLFS).

(C) Periodic Labour Force Survey s
conducted by the Ministry of
Statistics ~and ~ Programmé
Implementation since 2015-16.

®lect the correct answer using

co o
des given below :

Odes :

gi Only (A) and (B) are incorrect.
(3) o Only (B) and (C) are incorrect.
4) (A Only (A) and (C) are incorrect.
5) q A), (B) and (C) all are incorrect
Question not attempted-
01
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tements iN

the context of Michael Oakeshott -

(i)

(if)

a skeptical view-

(i) He tries to carry I¢
value-based tradition in PO

Select the correct answer usin
codes. ol W
[

Codes :

(1) Only (i) is correct.

(2) Only (i) and (jii) are correct.
(3) Only (i) and (iii) are correct.
(4) (i), (i) and (iii) all are correct.
(5) Question not attempted

forward the
litics. -
g the

Consider the following statements of
Leo Strauss about Political Theory :
() Leo Strauss reaffirms the
_importance of classical political
theory to remedying the crisis of
the modern times. :
Strauss does not agree with the
proposition that all political
theory is ideological in nature
mirroring a given  socio-
economic interest, for most
political thinkers are motivated
by the possibility of discerning
the principles of the right order
in social existence.

choose the correct answer :

(1) Only (1) is correct. |
(2) Only (Il) is correct, .
(3) Both (1) and (Il are correct
(4) Neither (I) nor (Il) is correct
(5) Question not attempted .

(N

1615345 O
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o the following stateements
ding th® Stat?' foun
regel ate is @ 1M OF Univerg,

l M.
a'”;’ésn?s a concrete form
Il. Staolute consciousness,
g?:te s an End-in-itself.
Il otate IS the. coherent whole of
V. iahts, freedom and welfare,
WhicsrfJ of the above statements g,
closely associated with Hegal ?
1 LI ll|| :Ialna(ljngllll
Only |,
g; Onlg/l , Il and IV
(4) Only | and i
(5) Question not attempted

of

Consider the following statements

“regarding sovereignty of Jean Bodin :
- (i) - Jean Bodin’s basic thesis is that

a central authority should wield
unlimited power.
Bodin advocated a
centralized authority to steer
France away from ‘disorder’.
Jean Bodin accepted that the
laws of God and nature on the
one hand, and the customary
laws of the land on the other,
Sl would limit the sovereign.

elect the correct answer using the

. Codes,

Codes :

8; 8":3’ (i) and (ii) are correct.

3) O“ Y (i) and (jii) are correct.

(4) (i)n|¥_ (iii) is correct.

5) Qu (i) and (jii) all are correct.
U?Stlon not attempted

W .
hagods\j"O"g the following scholars
analys; ?'Oped the ‘Critical discourse
analysis' aims to balance linguistic
and o With the analysis of power
(1) Riohos,?

2) Neard Rorty

0 ,
(3) Caaman Fairclough

4) J
) Qu

Schmitt
Ques Derrida
€stion not attempted
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sch

cholars- 5
iberty” ?

Who among the followind
has given the notion of “equd
(1) Alex Honneth

(2) Etienne Balibar

(3) Chantal Mouffe

(4) Ernesto Laclau

(5) Question not attempted
owing members

ment during
ffice of the

Who among the foll
has moved an amend
the discussion on the O g
Vice-President in the Const"tu-ent‘
Assembly of India, that the Vice-
President should be elected at the
same time and in sameé manner as

President’ ?

(1) B.L. Mitter

(2) Muhammad Saadulla
(3)  K.T. Shah

(4) Jai Narayan Vyas

(5) Question not attempted

When the Supreme Court receives a
reference from the President to
removal of the
chairman of any public service
commission from his office on the
ground of misbehavior, the
procedure for inquiry for this purpose
by the Supreme Court is prescribed
under which Article  of the
Constitution of India ?

(1) Article 317 (1)

(2) Article 317 (2)

(3) Article 145 (1) (j)

-~ (4) Atticle 145 (1) (f)

(5) Question not attempted

Who among the following consid ”
. {] H e
‘might’ as the basis of power 7 - re

(1) Trotsky (2) Lord Acton |

. (4) Bierstedt
(5) Question not attempted

.
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. of the follgy;, .
‘ thCh In
27. wgrEel “6EE S SIS e fyfy gro an | 27- Bynstitutiona‘" Arrlnenc:jmsnt Acts the
o e B , Ccons declared by or yng,
fefafen § 4 fra inolo - L r
: - term py Parliament” has peq
._ Hﬁlﬂﬂ aTﬁlﬁ'erq T WA law M2 in the Article 49 of thn
. EfHH % TR 49 | ar-zenfua fn i”seﬁiﬂtion of India ? :
11:11 ?ﬁ | (ion?/'i:1 (2) 24t
(1) b (i) 242 23; 42 (4) 44t
(34 (4) 444 i t attempted
tion not attempte
(5) e TE (5) Quest | |
o8 N N \ %3 frg | 28, Amendment of which of the.following
.. ' 5”3'". . #inles/Parts of the Constitution of
ST/ um # T % Ry dug § 9nt Articles ol
Cx . Hia requires ratification by the
weel & fiw wge (W b R wer ey | India red
. haih legislatures of not less than one-half
FT TSN BT Fgd Sl 3 _ of the states, in addition to a special
T HAgH F A deE w1 -fEr majority (a majority of the tota
) F i, H A 3 T F membership of each house of
- Tourmeadl grn IrgEme @) Parliament and a majority of two-
B R ? | . thirds of the members of the house
(i) e 279A R | preseqt and voting) in both houses
(i) VI 5T SremE V. b Z;Pir:'frl"?"t? |
(i) i3 () Article 279A
! I ~ (if) Chapter V of Part VI
(iv) =T 71 - (iii) Article 162
gt forrea o | (iv) Article 71 _
- (1) F (), Gi) S Gy 8“0089 the correct option :
(2) 3= (i), (i) 3. (iv) (2; 8nly (1), (ii) and (iii
(3)-= (i), (ii) 37 (Iv) . ) O“:y (i), (iit) and (iv)
(4) (), i), (i) 37 (v) @ @, g and (¥
(5) st e ) quary (M and (v
: | . 10N not attempted
29, frfefed & & = @ yRa % GREF F | 29, whg, of o
ST 51A TR WA 3 ¥l AT Y by the Argnc, foloWing is not referred
Sfard ey 7Ef T ? of Indig Icle 51A of the Constitution
5 YIS every g 88 a mandatory duty of
(1) T & % fy g 1 eslze" of India ?
(2) TE-TH % TR TEHE ) Respect towards National Flag
(3) Tg-ita & i wwm 4 Anthpeenﬁt towards  National
(4), e SR 3 st % i T (4) RoghoCt towards National Song
(5) I S ' CO"Stitc ‘ towards the
) . n © Queggition and its ideals
o: ' ©n not attempted
. - 01
L —— TN SRR =, .
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30, . . -
;*:h:jﬁ I ¥ ar § fP=fafaa | 30. Consider the following statements
ferem Hifra - about the  ‘State  Finance
U (i) : Relr S 6 306 243 | CS3t0mmission’: _
¥ aiwt, : freft atement (i) : Under Article 243 I of
Ry ’ At A the Constitution of India, a Finance
<1 e 39 TSAUTE g T Commission is constituted by the
o 3 1 e R ST R | Governor to review the financial
FUA (i) : fog smm TER B! AT position of Municipalities.
é;r&ﬁ 'W 3 “34: T TER T Statement (ji) : The Finance Commission
makes its recommendations to the
Rremiieatt Y wog & g Tegd H state
; government, and the state
g ~government presents these
gq'ﬂqﬁ : recommendations before Parliament.
ﬁé:ﬁqm/ AU FOR/R ? - Which of the above statement/s
(1) == (i) ‘ is/are correct ?
(2) e (ii) | 8; E!_))onl?/
i t : o " R ' i) only
W(I)E;ﬁ.t (:%:ﬁ . : (3) Both (i) and (i
(4) = (i) SRR (i) (4) Neither (i) nor (i)
(5) I T | ~ (5) Question not attempted
ngﬁ[ ﬁa-faq;m ¥ 131, Which of the following statement/s
31. )T ! b e is/are not correct about the election
frefefea & & 1 91/ & Fo Tl ~ process of the President of India ?
3/2 7 i () As per the Constitution, the
() ™ % FIER, WA F fafe | Secretary General, Lok Sabha is
oo g s s e | ool speoied o8 e ReL O
@ﬁ?ﬁ“mi g lEl%ﬂTGﬂ?ﬂj% L1 Commission of India.
(iy e 35 @ it 3 Pl sl (i) The ballot papers for elected
mmﬂ—mﬁfft’r{a—;gﬁé [ | members of both Houses of the
C o I 3k Parliament are pink in colour.
(iii) ﬁaia:.'\ 3:2\_‘2 3 (iii) Electors aré at liberty to vote or
weig ¥ FTFAR g T " ot to vote at the Presidential
q # wWaAd 2, WA election as per their own free will
:;;ﬁ-mj;a s ey n f&w s l and choice so political parties-
s T | cannot issue any direction or
T . .
: whip.
gl famcd ? : Choose the correct option :
\ Faa (i) 3 (i 1) (i) and (ii) only
(1)‘ (I) 3?R((i?i) 22; Ei?) and (iii) only
(2) Ft (i) iy and (i) only
e (i) 3 (i) (3) (yand =
(3) (i) l (4) (i) (ii) and (i)
@) (), (ii)aﬁ'{(ul) ! (5) Question not attempted |
(5) T o

13
01
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32) ol &1 G-l ﬁﬁ?ﬂ?ﬁﬁq :

gl (FETE) gl (%)
(i) 3TR-CREE EHeR  (a) 1974

C (i) ST 1 W W (b) 1979

33.

wderor
(i) drrefie =S (c) 1954
(iv) 3reet Tl it (d) 1955
&6 foew =it & w9 H
CiCRlEll
12 R T R h TEHAT § I H

© g I - :

0 @) (i) @(v)
(1) (¢) (@ (d) (b) [E&ms
2) (d) (@ (c) (b) -
3) (c) (b) (d) (a)

@) (c) (b) (a) (d)
(5) NG S

@ v R W A el

TEH I ¥ geERe = O W

e hifTe, 38 9T % g ¢

() "ci =t 4850 HUS &4 Hi FW
el ¥ RTv gy W gwar 6
™|

(l) YRa-Toide Wa SR WHsi
(ThdY) & formmed foear T &
R

(111 et 3 ans 3 S T A

| wEferd gewTHe diweE e
(amddie) oft e i
T (THEAT) & HeA e
e T R EeeR TR T |

R IW T T hIT : |
(1) e () @& (1) @ & |

(2) Faw ()@ () g@ & |

(3) Haa (1) T (1) T & |

@) (), & nyade |

() Irgafa e

14

32.

33.

GET IT ON
Google Play

_| with the List-11 :

Match List 22 Listl
(Incidents) (Year)
() Afro-Asian (@) 1974
Conferencé
(i) india’s  first nuclear (b) 1979
st
(il :’ea"ChS“.ee' (¢) 1284
Declaration

(iv) Atal Bihari Vajpayee’s (d) 1955
vist to China as
External Affairs Minister
Choose the correct answer with the
help of codes given below :

(i) (i) (i) (iv)

(1) (c) (@ (d) (b)

() (d) (@ () (b)
3) (¢) (b) (d) (a)

~(4) (c) (b) (a) (d)

(5) Question not attempted
Consider the following statements
regarding recent state visit of Prime
Minister Narendra Modi to Maldives,

: ‘.during this visit :
(I) Agreement for an LOC of INR

4850 crores to Maldives is
signed.
(1) Terms of reference of the India —

Maldives free trade agreement
(FTA) is signed.

(1) Network:to-Network Agreement

between India’s NCPI
International Payments Limited
(NIPL) and Maldives Monetary
Authority (MMA) on UPI in
Maldives is signed.

Choose the correct answer : -
(1) Only (1) and (1) are correct.
(2) Only (1) ang (In) are correct.
(3) Only (1) and (IN) are correct.
() (1), (11) and (111) are correct.
(5) Question not attempted

|
01 . e:
r 2 v

4
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34.

VI TG B Ry it o T

TR 3 e a3 8 e @

TH T g i 2 7

(1) W1 & 5 s (FAO) — aTfiie
., g e oo

(2), T8 g gugy wmaw (WIPO) -
e, fveedte

(3) g Amhe  IgeE @A
(ICAQ) - wiRuet, wret

(4) TG Fght et (IMO) —

(5) 3TFaRa e

‘@-Iﬁ@;llﬁgﬁ%ﬁaﬁwqﬁﬁ%

35.
ﬂ%ﬁqwaﬁgmmmaﬁm
o |
g (g el (éw)EE
G~ T TTH)

A TEEE 0. WRA-EE

B. fewie il wa-¥e

C. wgata i, Wd-Hficint

D. wfufed iv. WRa-ATeTqe
A B C D

(1) @i i i v

@) i i v

@) i i v

@) i i i v

(5) TR T

01

15

34.

35.

A

GET IT ON
Google Play

Which among the foIIowihg pairs is
not correctly matched regarding UN

specialized agencies and their

headquarters ?

(1) The Food and Agriculture
Organization (FAQ) -
Washington DC, USA

(2) World Intellectual  Property
Organization (WIPO) — Geneva,
Switzerland

(3) International  Civil  Aviation

Organization (ICAO) — Montreal,
Canada

(4) International Maritime
Organization (IMO) — London,
United Kingdom

(5) Questlon not attempted

Match List-l with List-ll and select

"the correct answer by using the”
. codes given below the lists : ’

 List-I (Name of
Joint Military List-1l (Countries)
Exercise) '
SLINEX i. India-China
B. HANDIN ii. India-
HAND Seychelles
C. EKUVERIN iii. India-Sri Lanka
D. LAMITIYE iv. India-Maldives
Codes : | “
A B C D
(1) i i i v
(2) i i v
(3) i v i
(4) i i i v
(5) Question not attempted
a:
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37.

247
Ud 9 NI, 3k AWrgiRrn
FHTSRITE H iR fife »
(1) et Ay
(2)/3?!?%#13#
(3) FTd 9w
(4) =1 N
(5) 3Tgwia w7
W BEES ¥ v o e
ST ) fodivaren 5y fpar 7
(1) T 9wre arfsy | : kot
(2) IR SRR s
(B) TR T W : Wy an

BUREICIS TRy |

(4) Fea TR e
(5) e v [t

38.

39.

(4) ¥ A |
(5) Tgaia yw ,‘

faffas & @ feg of § wrelw wfR

??:T%Tf‘mézr@fﬁwgm‘am
"7 , . :

(1) Ht.e=. g

(2) H.s=v, fre

(3) A7m A=

3 e gem # dyw vy Aem
(UNMISS) 4 14 sy gt forart 7

(1)} 2008 |

(2) 2010

(3) 2012

(4) 2014

(5) ARG A

16

| 36.

37.

38.

39,

GET IT ON
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divided Sociology intg

0

,\:.V:jo r gections SystemaﬁC ano

ciology, and Hiq M

General io Hlstonw
“gociology

1) Karl Mannheim

)
o) Kar M

(3) Karl Popper
(4) Karl Polanyi
(5) Question not attempted

In which of his book has ‘Rop
Bierstedt', enlisted characteristics

Sociology ?
(1) The Social Order

(2) American Sociological Theory

(3) Power and Progress : Essays on
Sociological Theory

(4) Cultural Sciences

(5) Question not attempted

Who said “Society is a cooperation,
Crossed by conflict” ?
(1) C.H. Cooley

@ cw. mins

.(3) Max Weber
(4) Maciver g Page
) Question not attempted

Fro _

lndi': Which of the following yea'

involn P €acekeeping Forces weré
Yed in the United Nations

x ')SSZ'O" 'n South Sudan (UNMISS)?
0og .

(2) 201¢

(3) 2012

(4) 2014

(5 .
) QUeStlon not attempted
01
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=, : ‘
((49;) SRt % 3 = el 7@ H R

41.

42.

43.

01

eY

W 3R AR <t argeonail H ITEM
To5em e 9

(1) IR fouss
(3) 3. Teig
(5) Irgafaww

(2) sh.ea. #fie
(4) am. i

= § ¥ B ghe aRedd &
e Samie i 7

(1) fw. 8lfm  (2) . R

(3) IN. TXWSE (4) T TR

(5) TG A

o ST Y ST & HIH A § 7
(1) 2TeTe T (2) Tt Sfem
(3) U e (4), et A

(5) ST I

st &t Ieaft “srefer Rrgra” fope
wrafea foma ?

(1) Fert (2) &M

(3) EHITS (4) &L L
(5) IR T
ﬁﬁﬁ’ﬁﬂﬁlﬁﬂﬂﬁg’qv&ﬁﬁ%ﬂqﬁf%?
(1) SEH s — ISR

2) aEe dveEd  — Wi g
3) Te.E. fifém — S g
(4) AT — Ufo® ayg
(5) IgaRa T

GET IT ON
Google Play

42,

40.

a1.

43.

44.

Who used the concepts of ‘Ascribed
and Achieved to refer to the
distinction of statuses ?

(1) R. Bierstedt

(2) G.H.Mead

(3) E. Goffman

(4) R.Linton

(5) Question not attempted

Who among the following is not the

“supporter of Cyclical Theory of

Social Change ?

(1) P.A. Sorokin

(2) V. Pareto

(3) R. Dahrendorf

(4) A. Toynbee

(5) Question not attempted

Who is associated with the concept
of Class Consciousness ?

- (1) Talcott Parsons

(2) Kingsley Davis

(3) Anthony Giddens

(4) Karl Marx

(5) Question not attempted

Who had propounded the “Racial
theory” of origin of caste ?

(1) Risley

(2) Senart

~ (3) Nesfield

4) Hutton
(5) Question not attempted

Which of the following pair is not
matched correctly ?

(1) Charles Ellwood - Vertical
‘ Group

(2) Dwight Sanderson — Delegate
' Group

(3) F.H. Giddings — Genetic
Group

(4) Lester Ward — Voluntary
Group

(5) kQuestion not attempted
. a.
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45,

47.

48.

49.

A.%. 3NEF I

1 G & femm o ¢
(1) JuhaET

(2) geTEHaTR

(3) HTHEATEHTETE
(4) R-FATHR
(5) AT I

% for s

ﬁ%irqﬁﬁwamaﬁﬂﬁiﬁ%mwgé
w9 Y ITer ety T fran @ 7

(2) 1974
(4) 1988

(1) et SEe -
(4) o 1 Hleram
T ?
U
EaE
(5) gaia F Ei
(1) 313 18
TfETe ® T O & R S
(1) dg R () T

(2) =afw i srametar

(3) it sepferss g

(5) g s |

I

(1) 1962

(3) 1978

fre e =1 foes wem fmw % w0 d

TR ST R ? ‘ '

(3) IrRET4

(5) sgaRasd

fiame #t afi st TR T S

<ifew, & gema forem feam 7

(3) T, shifyEmE (4) % T, FS }
(5) TR e

(@) Reis |
@y famt

18

45. Whic

46.

47.

48.

49,

(
o

(3)

(

(

“In which year

GET IT ON
Google Play

, dimension of commyp,,

was not suggested by TK. Oommen?

1) secess
2) Retreatist
Assimilationist

onist

4) Non_welfarist
5) Question not attempted

Which factor is not listed by Gillng
as primarily responsible for poverty;
(1) Increasing population

(2) Incapacity of the individual

© (3) Unfavourable physical conditions

(4) Maldistribution of wealth
(6) Question not attempted

“Prevention of
Corruption Act” was enacted ?

(1) 1962 (2) 1974

(3) 1978 (4) 1988

(5) Question not attempted

‘Which day' is celebrated as ‘World

AIDS Day’ 2

(1) April1g -
(3) October 4
(5)

(2) September 19
(4) December 1
Question not attempted

X‘;’;? _Suggested that to eradical’

sho eilsm inter-caste  marriagé®

() L;{d be made more popular ?
0gendra Singh

) g5

*S. Ghurye
(3) M.N, Srinivas
4) Kk

(5) Que. Kapadia

estion not attempted 01
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S0.

51.

52.

53.

01

:{: ;:T”W q 35—, - 3k fig -
THH ) wraee At ot 7

(1) Toweenmsm . (2) serrrism

Q) Tewmm  (4) g

(5) st we

3 srger "t g 1 T w0 2
3T T & ferearalt <61 e e oft | o
Tsh SIS | & di-ar A
FAPEHR” 7 |

(1) S=|HR  (2) @™

(3) A a=h . (4) TR

(5) Irgala =

(Ft.T. 5 3 7R ‘
-1 w1 -1l & v Y e g %

Y 2w 77U wie 1 I H T I B

TR

g gl
A =t () T
B. a3l (i) ¥
C. %M@ (iii) Afcehan
D. g —(iv) 3f®

w .,

A .
() @) @) (i) ()
@) @iy (v) (@) ()
@3), @iy @) @O W)
@) (i) @) (@v) (i)

(5) FARA A
o ot 61 e s (fot) el e e
37
(1) ST (2) @b
(3) ¥ (4)-%Ig

(5) 3Tt ST

GET IT ON
Google Play

50. In which ashrama was there an
arrangement to repay Dev Rina,
Rishi Rina and Pitri Rina ?

(1) Vanaprasthashrama
(2) Brahmacharyashrama
(3) Grihasthashrama
)
)

(4) Sannyasashrama
(5) Question not attempted

51. According to whom “Religion is a
mode of action as well as system of
belief and a sociological
phenomenon as well as a personal
experience” ?

(1) James Frazer (2) Durkheim
(3) Malinowski (4) Tylor
(5) Question not attempted

52. (According to P.N. Prabhu)
Match List-l with List-ll and select
the correct answer by using the
codes given below the lists :
List-1 - List-ll
A. Dharma (i) Desires
B. Artha (i) Wealth
C. Kama (ii) Morality
D. Moksha (iv) Salvation
Codes :

l A B C D

@ @ (@) (@) ()
) (i) () (i) ()
@) (i) @ @ @)
@) (i) @ @) (i)
(5)

5) Question not attempted

53. Which Varna is not regarded as
twice born (Dvija) ?
(1) Brahmin (2) Kshatriya
(3) Vaishya (4) Shudra
(5) Question not attempted

‘a
19
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55.

247

54. e o fn, o st 1
S T - ) ey w5 2
TR T TE 27 7
(1) APERTENT (2) witg v ot
(5) FATaRa T
AN TR i ‘TER S /7 Y ®
&9 ¥ fopem wiowiiya e |
(1) .2, =5z "
(2) UeE &, TMierepeht
(3) TV ferewrm |
(4) "mie 3. fents
(5) FgaRaTA

56.

57.

(1) ¥.w. e (2) 3 e

~(5) AT g

Fﬁ%mﬁw&r%ﬁm%ﬁwaﬂt
e & freaia F @R R 7
(1) Tad & Memgeht
(2) oI . feats
(3) .3, =T |
(4) & gis |
(5) ergaid &7 '
3 oot ) wrfaie e § A FER
HTHEEE 7

(3) T fed  (4) ¥ T

o T———

20

g4, WHO he

55.

56.

57.

GET IT ON
Google Play
\

s defined, “The family )
fined by @ S€x relati()nsma
grouP S precise and endur, ;
suffici®™™% ¢ the  procreation a°
ae of children”™ ? g
maclver and Page

2) Burgess and Locke

23) Horton and !—l'unt

(4) Gillin and Gillin

(5) Question not attempted

Wwho defined Public  Administrag,
as ‘What and How of Governmen 9

(1) L.D. White

(2) Robert T. Golembiewski

* (3) Woodrow Wilson -
(4) Marshall E. Dimock
" (5) Question not attempted

Who coined the theory of ‘Locus and
Focus' for the nature of Publc
Administration ?

(1) Robert T. Golembiewski

(2) Marshall E. Dimock -

(3) LD.White

(4) Herbert Simon

(5) Question not attempted

Who has defined, “Marriage is &
MStitution admitting men and wome"
nto family |ife” 2

() Km, Kapadia

g) E. Bogardus

( 4; :-R- Rivers

© queestomarck
Uestion not attempted i
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58. ‘S W @ wut W W@ T

59.

60.

(o) s

01

= |V

Tuifa stwa 6 wify s 27 - 7 B
3= @t gwtar @ 7

(1) < e w7 gehiof gfiepior
(2) S ST T g
(3) e SR 1 s R

(4) T TIEH T I I
(5) e e

Ao I TR F fre TR Sa S ?
15 2) 3
(3) 4 4) 7

(5) ITgTRd S

“F1 <" H STEUTON F G
feam 2

(1) RIS
(2) T
(3) o
(4) Fise 3fde
(5) FFaRa ¥

T o i T B FH B T FA S |

foru i € Ao T&qd i TS off ¢

21

58.

59.

60.

e Il % IFER, araa'lﬁ|61-'

- (3) 4

GET IT ON
Google Play |

“Administration has to do with getting
things done; with the accomplishment
of defined objectives” — This reflects to
which approach ?

(1) Narrower view of public
administration

(2) Integral view of  public
administration

(3) Wider view of public
administration

(4) Managerial view of public

-~ administration
Question not attempted

(5)

How many types of authority did Max

Weber describe ?
(1) 5 (2) 3
4) 7

(5) Question not attempted

Who suggested the concept of
“Gang Plank” ?.

(1) Luther Gulick

(2) Henri Fayol

(3) Max Weber

(4) Lyndall Urwick

(5) Question not attempted

According to Minnowbrook
Conference lll, what concept was
introduced to address the lack of
coordination among government
institutions ?

(1) Privatisation

(2) Inter-operability

(3) Artificial Intelligence

(4) Bureaucratic restructuring

(5) Question not attempted
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- (2) Control
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ial activities give
nageria n
in the ma ot s the full form of the
?
third ©C' 11 pOCCC *
) comma”d

rdination
(5

who proposed the
motivation ?

‘ERG’ theory ¢

(1) Victor H. Vroom

@) Frederick Herzberg

(3) Clayton Alderfer

(4) Douglas McGregor
(6) Question not attempted

’Who among the following is the
author of the book
.'Motivé_tion’ ?

~ (1) Abraham Maslow

‘Work and

(2) Douglas McGregor
(3) Victor H. Vroom
(4) - Chris Argyris

- (5) Question not attempted

Which of the following are factors
that affect the ‘Span of control’ ?

() Function (i) Personality
(iii) Time ~ (iv) Place
Choose the correct answer from

- Codes given below :

(1) (i) and (ii) only
(2) (i) and (i) only
() (ii) and (jii) only
4) G, i), (i, (iv)
(5) Question not attempted
0!
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67.
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GET IT ON
Google Play

Herbert A. Simon did not include
which of the following steps in the
declsion-making process ?

(1) Intellectual process

(2) Design process

3) Choice process

(
(4) Research process
(5

) Question not attempted

In which model of communication
was the concept of “Noise”
introduced for the first time ?

(1) Berlo’s SMCR Model

(2) Lasswell's Model

| (3) Shannon-Weaver Model

4) Schramm’s Model
(5) Question not attempted

Which one of the following was NOT
a main area covered in the reports of
the First Administrative Reforms

Commission (ARC) ?

(1) Railways

(2) Postand Telegraphs

(3) Higher Education

(4) Life Insurance Corporation
(5) Question not attempted

Which of the following is not one of
the 7-S's suggested by J.B. Watson
to explain the difference between
management and leadership ?

(1) Strategy (2) Selection

(3) Style (4) Skills

(5) Question not attempted
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f the Secq
., Report © >N
In th'ICtr:aﬁ ve Reforms Commission
Adminis . structure
Conceptrl:‘a e and the nati0n3|
e.(_;overnan e plan and' knowledge
e-Gove ont has been discussed ?

managem
1) Ninth Report

Twelfth Report
2‘51) Question not attempted

ioh section of the RTI Act
\r/nvg:\dates suo moto (proactive)
disclosure by public authorities ?
(1) Section 2(h)
(2) Section 18
(3) Section 4(1)(b) -
(4) Section 25(5)
(5) Question not attempted

In which Report did the First
Administrative Reforms Commission
(ARC-l) recommend the setting up of

‘the institutions of Lokpal and

Lokayuktas ?
(1) Report on District Administration
(2) Report- on  Citizen-Centric

Governance

(3) Report on  “Problems of

: Redressal of Citizens’
Grievances”

(4) Report on Ethics in Governance
() Question not attempted

.The creation of the office of the

tLi:)kpal was first recommended by
e

(1) National Police Commission

(2) States Reorganization
Cpmmission

(3) First Administrative Reforms
Commission

(4) Inter-State Council
(5) Question not attempted
01

) Yy
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74. Ritis not
g; Wﬁ;:q ‘ _ (1) An eternal law
(3)1 i. L P : (2) An universal law
3. STty (3) An inexorable law
(4) T (4) A legislative law
(5) IS W (5) Question not attempted
75. U Y AT Sremon % srgan 75. According to the ancient concept of
(1) = fess g _ Rinatray

(1) Rinas are optional.

(2) RO INER TE T E |

(2) Rinas are non-repayable.
(3) FTRRTIFd e F@El _ (3) Rinas enjoin certain duties.
(%ﬁf"ﬁ G R 7 ghIY s w2 it (4) Non-repayment of Rinas may
FRGE TWT B | invite legal action against
e defaulter.
®) e : o (5) Question not attempted
76. AWTH 2 | 76. AparaBrahmanis .
(1) TR (2) fofor (1) Indeterminate (2) Unqualified
(3) afe (4) I | (3) Determinate (4) Infinite
(5) FFER@TH (5) Question not attempted
PrsHT & i | 77. According to Geeta, Nishkama-
il Tﬁm%_ ik : ~ karma implies
(1) o 1AM ~ ~ (1) Renunciation of action
‘ : 2) Renunciation of the fruits of action
@) o e ' 23) Renunciation of the desire of
@Lﬁmﬁs 1 1 T | fruits of action
SR A (4) Purposeless performance of action
) 57 (5) Question not attempted
(5) TR |
78. FES & zaafd CLRED H’I‘(ﬁlﬂﬁ 78. The Nasdiya Sukta, concerning the
. freraT 2 Origin of Universe, is found in
1) Wlﬁﬁ (1) Mahayan Sutra
i o e | (2) Bhagwati Sutra
(3)’ a—aﬁ (3) Vedas
(jf) syrrarg Tt | (4) Bhagwad Geeta
(5) aa'aﬂﬁ‘gﬂ | (5) Question not attempted

25
01

|
|
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Buddhist eight-fold path Ieadingt
liperation does not include - °

(1) Conduct

(2) Knowledge

(3) Devotion

4) Meditation

(5) Question not attempteq

What is correct about Gandhiay,
philosophy ?

(1) Gandhi introduced the concept
of truth in Indian thought,
Gandhi  alone  was
practitioner of non-violence,
Satyagraha presupposes nop-
violence.

God is truth, therefore an atheist
may adopt violent means.
Question not attempted

(2)

(4)
(5)
The Socratic' method primarily relies
on : '

(1) Lecturing

(2) Storytelling
(3) Dialectical Questioning

(4) Group Meditation
~ (5) Question not attempted

- According to Jainism, when karmic

particles actually begin to flo¥
towards the soul, is called as
(1) Ashrva
(2) Nirjara
(3) Liberation
(4) Agam
(5) Question not attempted
01

A
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Who of the following philosophers
proposed Hedonistic Calculus ?

(1) J.S. Mill (2) Bentham
(3) Sidgwick (4) Kant
(5) Question not attempted

Who is the propounder of qualitative
utilitarianism ?

(1) J.S. Mill

(2) Bentham

(3) Henry Sidgwick

(4) Kant

(5) Question not attempted

According to Kant, which one'of the

~ following is not a postulate of

morality ?
(1) Existence of God
(2) Man’s emotional nature

~(3) Immortality of Soul

(4) Freedom of Will

, (5) Question not attempted

Ereedom of Will is inconsistent with

(1) Capacity to act

' (2) Knowledge and purpose

87.

(3) Presence of alternatives

| (4) Fatalism

(5) Question not attempted

Who of the following is associated
with method of Doubt ?

(1) Sidgwick (2) Descartes
(3) Rashdall (4) Avristotle
(5) Question not attempted
| O
9 .
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88.

89.

'90.

91.

»(

(1)
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mteuectual midwifery is associatgy

ith .
Wi M.K. Gandhi (2) Socrates
(3) Aristotle (4) J.S. Mill
5) Question not attempted

The . burusa is the eterna|
inactive, immobile, and immutabg
self of all.

(1) Kshara - (2) Akshara

(3) Brahma (4) God

(5) Question not attempted

“Two statements are given below
"about the nature of social science :

(A) Social science subject draws its

contents from several social
‘sciences.

(B) Social science subject deals

with man, their relations with
other men and their
environment.

Which of the following options i
correct ?

(1) Both (A) and (B) are true.

(2) Both (A) and (B) are false.

(3) (A)is true, but (B) is false.

(4) (B)is true, but (A) is false.

(5) Question not attempted

- What is the main objective of i

deterrent theory of punishment ?

To take revenge

To rehabilitate the criminal

To discourage both the offender
and others from committing crimes

(2)
(3)

(4) To reform the offender
(5) Question not attempted "
4 ‘
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Which of. the following . statement
is not correct about the importance

of correlation in social science

subject ?

(1) It makes the facts easier to
understand.

(2) It realises the fragmentation of .
knowledge.

(3) It reduces the burden of
curriculum.

(4) It provides practical application

| of knowledge.
(5) Question not attempted

If a teacher is explaining the topic

~..‘Consumer Awareness’ by involving
.. - concepts
" 'mathematics and language, which

- from economics,

approach of correlation is being

. applied by him ?

(1) Segregation approach
(2) - Interdisciplinary approach
(3) Disciplinary approach

(4) Diversified approach

~ (5) Question not attempted

94,

ﬁﬁnﬁq; : VBN W wem ahE

BESER)

o % e & R A HEl
(1) % 22 % e s e 21
(2) % 31 % frave o1 sy s 2 |
(3) I Tgwshm % R wwFw@ 2 |
(5) TFaRT w
TEEY T I T SIFH AT F @I ?
(1) AR I
(2 iafesrr I
(3) forwareh SUr™ .
(4) Torfera Surm : ﬁ |
(5) FaRa 5
o ami e A we -
sfrm wfEEa ra ferenfRT A STt
@ﬁmﬂnﬂf@%'wml |
%EmgmmﬁWﬁmﬁﬁw
AspE R MR ! |
(1) FAWE
- (2) @A
(3) _FTAT

- (4) T

- (5) I R

' 29

'Students

the

democratic values the
teaching-learning process in a social

conceptualizing
through

science class. According to Bloom

taxonomy, which of the following
objective is fulfilled in this process ?

(1) Receiving

(2) Organization
(3) Synthesis

-(4) Evaluation

(5) Question not atte‘mpted

3
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95- Which of the following is pot a

advantage of problem SOIVing

'method ?

(1) It develops the power of critigy
judgement.

It requires too much reference
material, museum, library anq
diﬁerent types of information
centres.

It tends to develop initiative ang

- responsibility in students.

It develops the traits of open-
mindedness and tolerance in
students.

" (5) Question not attempted

(2)

(3)
(4)

Which of the following are not the
characteristics of the ‘Formal group
plan’ among the various forms of
social recitation method used for
teaching social sciences ?
(@) In this form, students can freely
. express their ideas  and
suggestions without need of any
~ permission.
- (b) There is no systematic plan in
e _
Ly this.
:(c) Students discuss the d
problems.
(d) Students take actio
to the fixed rules.
Choose the correct code
(1) (a)and (b)
(2) (b)and (c)
(3) (c) and (d)
(4) (a)and (d)
(5) Question not attempted

96.

etermined

n according

01
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97.

98.

99.

31
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According to the Edgar Dale’s ‘Cone

of experience’, which one of the

following statement is correct

regarding the teaching aids ?

(1) Still pictures are more effective
than exhibits.

(2) Demonstrations are less
effective than motion pictures.

(3) Contrived experiences are more
effective’  than dramatized
experiences.

(4) Television is less effective than
the visual symbols.

(5) Question not attempted

A teacher is planning to explain the
internal structure of the government
bodies, she/he should use which one
of the following kind of chart as
instructional support material ?

(1) Tabulation

(2) Organizational

(3) Relationship
(4) Classification -
(5) Question not attempted

When a social science teacher asks

students to find solutions to pollution
control, the students give
suggestions and the teacher makes
a list on the blackboard and then
summarizes all the arguments
emphasizing the importance  of
pollution control.

In this case which method is used by
the teacher to teach the lesson on
pollution control in the class ?

- (1) Problem Solving

(2) Brain Storming

(3) Social Recitation

(4) Project

(5) Question not attempted
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100.

101.
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wh are the .huma.nistic qUaIitie

seded for @ social science teach N

n1) To reduce workload

22) To ensure scientific BXpe”ments
in class

@3) To help students grow Wit
the feeling of internatiOnal
understanding  and
solidarity

4) To memorize facts easily

(5) Question not attempted

e

Worlq

Match the following  Teaching.
Learning materials of Social Science
with their purpose :

Teaching-Learning Purpose
 Material
(a) Globe (i) to show
relationship of
time with
. events
- (b) Model (i) to show the
' land masses
in proper
| positions
- (©) Pie-graph (iii) to show a
large object
a reduced s
() Chronological  (iv) to show the
Chart component |
part of a who
Codes :
@ (b) () (9
M0 G Gy i)
g) (W) (i) @v) (i)
,(4; m () (i) (i)
6 Qb ) () W)

Uestion not attempted 01
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102. Which statement is not recommended

by

National Curriculum Framework

(NCF) 2005 for social science at
secondary level ?

(1)

(2)
(3)

(4)

(5)

@)
(5)

The learners should be initiated
into a deeper understanding for
the social and economical
challenges of nation.

Instead of world’s history, India’s
rich and varied past should be
taught.

Geography should be taught for
critical appreciation for
conservation of environment.

In political science, the focus
should be on philosophical
foundations of Indian
Constitution.

Question not attempted

Which of the following is not a

103.
component of unit plan of social
....... science ? ~
<. (1) Division of sub-units
"~ (2) Formation , of introductory
...  (questions
: (3) Determination of instructional
objectives

Teaching methods and materials
related decisions

‘Question not attempted

. Social sciences curriculum should be
correlated with the past and the
present that will enable children to

understand their environment. This
principle of curriculum construction is
directly related to which one of the

following ?

(1)
(2)
(3)
(4)
()

Integration |
Learning by doing
Flexibility

Motivation

Question not attempted

_—
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106.

107.

GET IT ON
Google Play

hich of the following is .

W . .

related to Herbartian g, Step

gystem of lesson plan ? '
introduction

(1)

2) presentation
3) Generalization

(4) Reporting .
(5) Question not attempted

Which of the following type of
question is not suitable to evalyyty
the achievement of comprehensigy
objective under cognitive domain ?
(1) Translation Questions

(2) Interpretation Questions

(3) Extrapolation Questions

(4) Recognition Questions

(5) Question not attempted

Which of the following statement is

~ not correct about unit plan ?

(@) It is based on principles of
behaviourism.

(b) The concepts are related to oné
another within a unit.

(¢) Skinner's assumption is fhat
students learn better, if €
content is provided in a wholé-

(d) The lesson plan forms the bas®
of unit plan.

Choose the correct code :

(1) (a) and (d)

(2) (a), (c) and (d)

(3) (b)and (c)

4) (b), (c) and (d)

(5) Question not attempted
.o 01

i

Scanned with CamScanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

109.

110.

(3) B ¥ W 1 w75 FET

@)% T W R wwE iR
m—aﬁﬁiﬁgq'[

(5) ITIeRa T

e wG & fww § frafafeg § 3 29
AIHYTEE2 7
(1) T g 1 swmm @
FreraTeTs woHr & vl wfeT R |
(g),agﬁvw%uﬁmﬁﬁaiaﬂm.
' I et yaif gt
® ‘ :

(3) P YHR % wewi # S
TTich <hT AT TSN & T STl
2 o

(4) Freremers TR F THE0 STEE |
T Y T Ehd & |

(5) Irgiid S=¥A

Prefofaa & @ ®9 @ qeA i
Tt SRR S5 TR T ST
TEie |

(1) ity gl

(2) wrfirs wdie

(3) arPrgfiy aeft (e

(4) sraeie St

(5) Igaf@w e

108.

109.

[

110.

35

GET IT ON
Google Play

Which of the following is an example

of blueprint application in

assessment design ?

(1) Random selection of essay type
questions

(2) Choosing difficult questions only

(3) Asking students to create their
own test

(4) Mapping each question to
" learning objectives and content
areas E

(5) Question not attempted

Which one of the following statements
is correct about the test items ?
(1) Estimation of reliability index is
difficult in essay type tests.
(2) In objective type tests scoring
~ procedure is highly influenced
by the evaluator.

'(3) Validity co-efficient is estimated

~ easily in essay type tests.
(4) Essay type tests can be easily
standardized.
(5) Question not attempted

Which of the foIIowing evaluation
technique is not appropriate for
evaluation of affective objectives ?
(1) Interest inventory

(2) Practical examination

(3) Attitude scale

(4) Observation technique

(5) Question not attempted
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111.

112.

113.

(2)

GET IT ON
Google Play

Which of the followmg statement

not correct ?
Natural powers are the Centrg

Vedic Religion.

(2) The idea of polytheism 5
monotheism is mentloned
Vvedic Religion.

(3) In the Rig Vedic period, Varu
is the nurture of morality.

(4) ‘Purandar’ is not a Rig Ved,
God.

(5) Question not attempted

Which of the following fact aboyt

Buddhism is false ?

(1) Gautam Buddha realized the

principle of ‘Pratityasamutpada
~ in Sambodhi.

Mahatma Buddha came firstly

Rishipattana from Uruvela.

(3) After attaining enlightenment
~Mahatma Buddha gave his
sermon for the first time in

- Uruvela regarding suffering, its

causes and its solutions.

‘D'harmachakrap'ravartan’ is the

~hame given to the preaching

~given to Brahmin ascetics.

(4)

(5) Question not attempted

From' which of ‘the followind
Archaeological site a dead body
buried in a wooden box is found ?
(1) Surkotada
(2) Lothal
(3) Rangpur
(4) Harappa
(5) Question not attempted

01
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114.

115.

GET IT ON

Google Play
According to Buddhist texts, who‘
was  Ashoka's Prime
(Agramatya) ?
(1) Radhgupta (2) Tishya
(3) Kunal (4) Mahendra
(5) Question not attempted

Minister

Read the following statements about
Amaravati stupa and choose the
correct option :

A. ‘Ayaka’ pillars were installed |n
the stupa.

B. The dome (‘Anda’) of the stupa
was decorated with marble.

~ Codes::

116.

117.

37

(1) Only A is right.

(2) Only B is right.

(3) Both Aand B are rlght
(4). Both A and B are wrong.
(5) Question not attempted

Which of the following texts written
by Varahmihira is not in Jatak-
Skandha ?

(1) Brihajjatak

(2) Brihatsamhita

(3) Brhadvivahapatal

(4) Brhadyaatra

(5) Question not attempted

Which doctrine shows intellectual
tolerance in Jainism ? '
(1) Pudgal

(2) Samyak Darshan

(3) Aparigraha

(4) Syadvad/Anekantvada

(5) Question not attempted
O
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GET IT ON
Google Play

118. Choose€ the incorrect pair among the

119.
- with their concerning years ang

following :

Monuments Place

(1) Mosque of -~ Panipat
Kabulibag

(2) Palace of Turki — Fatehpy,
Sultana Sikri

(3) Nagina Mosque — Agra fort

(4) Naulakha ~ Allahabag
Palace fort

(5) Question not attempted

Match the achievements.of Shivj

, ' select the correct option.

(B)

Achievements Year
(A) Second lootof (i) October
Surat 1670

Possession of (i) November
Panhala 1675

(C) Surrender of (iii) March
Ponda to Shivaji 1673

(D). Conquest of (iv) May 1675
 Satara

Options :
(A) () (©) (D)

(1) @ @) @v) (i)

2 @@ @) (i) ()

C(3) (i) Gv) @) (i)

(4) (i) (v) (i) ()

120.

. (5) Question not attempted

38

(5) Question not attempted

Who is the author of the
“Chaitanya  Charitamrit’
mentions the life and philoso
thoughts of Chaitanya ?

(1) Jagannatha Mishra

(2) Ishwar Puri -

(3) Murarigupta

(4) Karna Purak

0l
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121.

122.

GET IT ON
Google Play

In which session did the Congress
present the demand for self rule in
its resolution for the first time ?

(1) Calcutta Session 1906

(2) Allahabad Session 1892

(3) Madras Session 1887

(4) Bombay Session 1904

(5) Question not attempted

Which of the following was not a part

of Non-Cooperation Movemént ?

(1) Boycott of courts

(2) Boycott of foreign clothes and
gobds

- (3) Boycott of payment of salt tax

(4) Boycott of government schools

- (5) Question not attempted

123.

Which of the following fact is false
with reference to Awadh (Oudh) in
the revolution of 1857 A.D. ?

(1) The British were defeated by the
" rebels in the Battle of Chinhat in
Lucknow.

Henry Lawrence died
Lucknow Residency.

In November, 1857 A.D. James

Outram was made the

Commander-in-Chief  of the

C'ompany's army in India. |
Havelock of the British army that

came to. Lucknow from Kanpur

had died. |
(5) Question not attempted

near

)
(3)

(4)
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124.

125.

- 126.

GET IT ON
Google Play

Which of the following revolution,
pbegan hunger strike in Lahore i
and eventually died in Septembe,

1929 7
(1) shachindra Nath Sanyal

(2) Jatindra Nath Das

(3) Manmath Dasgupta
4) Barindra Kumar Ghosh
(5) Question not attempted

s

Who among the following were
related to Chatagong Armoury raid ?
(i) Preetilata Waddedar

(ii) Shanti Ghosh

(iii) Kalpana Dutta

(iv) Bina Das

Choose the correct answer :
(1) (i), (iii) (2) (i), (iv)
(3) (i); (ii) (4) (i), (iv)

(5) Question not attempted

Consider the following statements
about Civil Disobedience Movement:

A. Protest against British monopoly
of salt.

This movement got internationa
attention. .

It was the first nationalist activit
in which women participate
enthusiastically.

The capitalist class "
industrialists did not partifflpa‘te
in the Civil Disobedien®
Movement.

Which of the statement/s give"
above is/are correct ?

(1) Aand B are correct.

(2) D and C are correct.

(3) A, B, C are correct.

(4) Only A and D are correct.
(5) Question not attempted

B.

C.

0!
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GET IT ON
Google Play

127. The Boston maséacre in America

occurred during a protest against

- which of the following Act ?

(1) Quartering Act

(2) Townshed Acts

(3) Stamp Act

(4) Green Will Act

(5) Question not attempted

. Undér whose leadership among the

following the Provisional Government
was established in Russia in March
1917 ?

(1) Georgy Lvov (2) Kerensky

(3) Trotsky (4) Lenin

(5) Question not attempted

. The ‘sidereal day’ has a period of —

(1) 24 hours
(2) 23 hours, 56 minutes and
4 seconds
(3) 364 days, 8 hours and
26 minutes

. (4) 366 days

(5) Question not attempted

. Consider the following statements

and choose the correct option :

A. Subhash Chandra Bose
established a provisional
government in Singapore on 21st
October 1942. :

 B. Subhash Chandra Bose's Indian -

National Army . hoisted the
Tricolor flag at Moirang. '
Codes :
(1) OnlyAis right.
(2) Only B is right.

(3) Both A and B are right.

(4) Both A and B are wrong.
(5) Question not attempted
| a

}

B . —
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131.

132.

GET IT ON
Google Play

on the pasis of velocity of the
seismic waves Whigy

followingd c

among the following is/are corregy,

matched ? |
velocity

B. P*-S*waves — Medium
velocity

C. Pg-Sgwaves - Minimum
velocity

Select the correct answer using

“codes given below :

Codes :

(1) A,BandC

(2)- Only A

(3) Aand C

(4) BandC

(5) Question not attempted

Consider . the following. statements
and select correct answer using

~~ codes given below :
A.

The equator is the longest
parallel. '

The length and distances of al
parallels decrease from equator
to poles.

Parallels intersect meridians at
right angles.
66'2° south

~ Antarctic circle.

Codes :

(1) A,B,CandD

(2) A,BandC

(3) B,CandD

(4) A,Cand D

(5) Question not attempted

B.

C.

D. latitude is the

01

(e
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133.

134.

135.

GET IT ON
Google Play

Kilimanjaro is an example of which

type of volcano ?

(1) Extinct

(2) Strato

(3) Active

(4)'Dormant

(5) Question not attempted

The ‘Van Allen Radiation Belt' is

found at :
(1) lonosphere
(2) Mesosphere

(3) Exosphere and Magnetosphere

(4) Ozonosphere and Stratosphere
(5) Question not attempted

Arrange the following magnetic strips -

of Mid Oceanic Ridge in the
chronological order :
A. |
B. Brunhes

C. Matuyama

D. Gillbert

Select the correbt answer using

Gauss

codes given below :
Codes :

(1) B,AC, D

(2) D, A, C,B

(3) AD, C,B

(4) C,B, D, A

(5) Question not attempted

[
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139.

GET IT ON
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r small ice pellets '(hat

fo )
3 e term an their way dOWn is:

and refreezé
(1) Steet
(2) Hail
(3) Mist call
Snow 12
ég; Question not attempted

. factor(s) causes the g,
g?:;?n to deflect eastward ne:
Cape Hatteras ?'

A. The Westerlies
B. The rotation of the earth

C. Upwelling force of water
Select the correct answer using
codes given below :

Codes :
(1) Only A (2) OnlyB
(3) Aand C (4) AandB

~(5) Question not attempted

138.

The semi-diurnal tides recur at the
interval of :

(1) 12 Hours

(2) 24 Hours )

(3) 12 Hours 26 minutes

(4) 24 Hours 52 minutes

(5) Question not attempted

Consider the following statements
and select the correct answer using
codes given below : .
A. The rotation of earth about ¥
axis affects direction of the wind
Due to Coriolis force WN
deflects to right direction "
northern hemisphere. i
The Coriolis force increasés
direct proportion to the angle
latitude. dient
The higher the pressure ga%.,
lesser is the deflection N
direction of wind.

Codes : 4D
(1) A,BandC (2) B, Can 40
(3) A,CandD (4) A B,C?2

(5) Question not attempted ol

B.

* 4 ) A
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In which of the following part/region

of India the variability of rainfall is

found lowest ?

(1) Hilly area of Nagaland and
Manipur

(2) Western Rajasthan

(3) Ladakh

(4) Coromandel coast

(5) Question not attempted

Which among the following is not a

major sugarcane growing area of

India ?

(1) Satluj — Ganga plain

(2) Mahanadi river valley

(3) Coastal Andhra Pradesh and
Krishna valley

(4) Black soil belt from Maharashtra

(5)

to Tamil Nadu
Question not attempted

In India, which type of forests are

found in regions having rainfall

between 70to 200cm ? :

(1) Tropical Evergreen forests

1ekw(2) Tropical Deciduous forests
L48(3) Tropical Thorn forests
=%4) Mountain forests

(5) Question not attempted

Consider the following statements
and select the correct answer using
codes given below :

A. Ladakh is a cold desert.

B. Harike Dun and Nalagarh Dun
are the largest duns.

C. ‘Valley of Flowers' is situated in
Himachal and  Uttarakhand
Himalayas.

D. Kanchenjunga peak is located in
Arunachal Himalayas.

Codes :

(1) A, B and C are correct.

(2) B, C and D are correct.

(3) Only Aand C are correct.

(4) Only CandD are correct.

(5) Question not attempted
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Whlch amongd the ' f0“0W|n
topographical feature/s is/are fOUnq

in the Shahabad Upland ?

A. Horseshoe type Hill (Ramgarh)

B. Dag - Gangdhar High'lands

C. Highest peak is 517 metres ey
Chandwadi

Select the correct answer Using

codes given below :

Codes :
(1) A,BandC (2) Only A
(3) Band C (4) AandC

(5) Question not attempted

Which tributary joins the Sabarmat
river from its right bank ?

(1) Sei ~ (2) Wakal

(3) Harnav (4) Hathmati
(5) Question not attempted

Match List-l with List-ll and select
the correct answer using codes
given below :

, List-1 _ List-1I
(Steel Plants)  (Location-State)
(A) Vijaynagar (i) Andhra

Steel Plant Pradesh
West Bengal

" Plant
(C) Durgapur (i)

Steel Plant
(D) Bhilai Steel (iv)

Plant
Codes :

(A) (B) (C) (D)
(1) (v) @iy (i) (i)
(2) Gy @) (i) (v)
@) (i) (i) (i) (iv)
(4) @iy (i) (iv) (i)

(5) Question not attempted

Karnataka

Chhattisgarh
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147, In which of the following district the
urban _bopulation  sex-ratio was
lowest in Rajasthan (Census-2011) ?

(1) TR 2) (1) Alwar (2) Dholpur
) §4) T (3) Ganganagar (4) Jaisalmer
P T - EERUD (5) Question not attempted
I ‘ ‘ 148. Which of the following statement is
1@ TR T & fawg o f= o & 619 |1 e correct about national income ?
T ? (1) Capital gain is included in the
: (1) @Tﬁ N T e e R national income. o
TR | . (2) Capital loss is included in the
o . ‘national income.
(2) Hﬁﬁ‘ﬁ“”% T T o A e A (3) Capital consumption allowance
" | _ is excluded from the national
(3) TSt TR YT UL A § T W@l income. |
TR | , : . (4) Market price represent the
4) TR Ed I % Free earnings - of the factors of
FPrfires production. -
S =i 2l (5) Question not attempted
(5) aﬂﬂﬁ'd LS 5 )/7 '
% (/_1,:”13:9’ Which of the following is correct ?
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circulation + Banker’s deposits with
RBI + Other deposits with RBI.
Narrow Money (M4) = Currency
with the public Demand
deposits with banks + Other
deposits with RBI.

Narrow Money (M,) = Currency
with the public Demand
deposits with banks — Other
deposits with RBI.

Reserve Money (M,) = Currency in
circulation — Banker's deposits with
RBI — Other deposits with RBI.

(5) Question not attempted

ich is not a

Rajasthan ?
area

- (2)

(3)
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(4)

150. Among the following wh
mining area of Calcite in
(1) Ghavria Chandpur
Bhilwara) _
() l(=(aipur and Manvda area (Sikar) -
(3) Rajpura and Pindwara area.
(Sirohi)
(4) Madhogar
(5) Question no
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